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Clothes and shopping

u Write the missing vowels. Then match the words to the pictures.

{1 2.tr n rs 3.b_It 4. b ts 5. 8¢

[} Colour the pictures. Use black, white, green, red, blue and yellow.
Talk about the clothes Llike this:

The tie is black and white. The trainers are ... _

G Now write the words.

%
=
A7

]
Jd

\_=

red trousers

R S 5 B )
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u Complete the tables. Look at the spelling patterns.

eat eating drive | driving swim | swimming
read ride shop
drink have sit
play write
wear
talk

Unit 5
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u Write sentences.

Where were they yesterday?

Yesterday, Aisha was

, the boys

, Mum

[} Add three more words to each group.

buy big jumper supermarket belt new Llike
café go clothes shop boots expensive

1. T-shirt
2. small
3. shoe shop

4. wear

u Answer the questions.

1. Where were you at nine o'clock yesterday morning?

2. Where were you at half past three yesterday afternoon?

40  units
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